cADOoyY @ ;‘: Z :z;NSIVIAN PTY.LTD.

CADDY ERISTRUT-HDG ©1 ECB CANTILEVER ARMS - HDG
N L R R, A
A - O s -~
R Y% v QY
ES1000 ES1000T ES3300 ES3300T
e - A ] Weight
Part # Description Part #/Description il e ke
CoRrrosION PROTECTION - ({E]) corrosIoN PROTECTION - (E])
ES1000 41 X 41 X 2.5MM 3M 25 8.5 ECB150 320 EACH 1.90
ES1000T | 41X41X2.5MMSLOTTED | 3M | 25 | 8.0 ECB300 470 EACH | 2.30
ES3300 41 X 21 X 2.5MM 3M 30 5.5 ECB450 635 EACH 3.13
ES3300T | 41X21X2.5MMSLOTTED | 3M | 30 | 5.0 ECB600 780 EACH | 3.57

SLOTTED ANGLE-ZP

Part # Description Length
mm

=L Weight
] ws

CORROSION PROTECTION - n

EA3030 30 X 30 SLOTTED ANGLE 3M 10 | 2.9

CADDY® SLICK STRUT NUT

o

|-

E LS

Part # Description

CORROSION PROTECTION - n

EA5050 50 X 50 SLOTTED ANGLE 3M 10 | 8.3

174460 CADDY SLICK M6 M6 100 | 0.030
174340 CADDY SLICK M8 M8 100 0.030
174350 CADDY SLICK M10 M10 |100]0.029
174550 CADDY SLICK M12 M12 | 100 | 0.027

KH CANTILEVER ARMS - HDG

Part # Destription

CORROSION PROTECTION - B

Part # Destription

CORROSION PROTECTION - (]
190800 ISSP PLATE N/A 50 | 0.160
190810 | ISSP KIT WITH ISN M6 10 | 0.182
190820 | ISSP KIT WITH ISN M8 10 | 0.182
190830 | ISSP KIT WITH ISN M10 | 10 | 0.182

KH10C KH150 150 |[EACH| 0.771
KH5C KH200 200 |EACH| 0.914
KH6C KH250 250 |EACH| 1.057
KH11C KH300 300 |EACH| 1.149
KH15C KH400 400 |EACH| 1.443
KH12C KH450 450 |EACH| 1.650
KH16C KH550 550 |EACH| 1.876
KH13C KH600 600 |EACH| 2.023
KH8C KH650 650 |EACH| 2.140
KH9C KH700 700 |EACH| 2.278
KH14C KH750 750 |EACH| 2.397

ERICO




cRooy: (1" {INSMAN PTY. LTD.

4. CADDY® ERISTRUT P=)

MFA-M6 CLIP

PROFILE CAPS & CAPPING

s Part # Description Amm £ Weight
oy M . WWM i
Part # Description Size =
: g CORROSION PROTECTION - ([E])
313305 ADK421 END CAPS | 41x41 & 41x21 [ 100 | 0.004 | 160300 | MFASM25 | M6Xx25 | 100 | 0.017 |

313310 DLP PROFILE CAPPING | 41x41 & 41x21 | EACH | 0.230

Destription

corrosioN PROTECTION - (E)

Part # Description M ;’% Weight

UM506 | STRUTNUTNOSPRING | M6 | 100] 0.028 corrosion proTecTioN - ()

UM608 STRUTNUTNOSPRING | M8 |100 | 0.026 | ES3016 | TRUNKINGNUT | M6 | 100 | 0.1 |

UM810 | STRUTNUTNOSPRING | M10 | 100 | 0.034

UM812 | STRUTNUTNOSPRING | M12 | 100 | 0.040

UD506 SHORTSPRINGNUT | M6 | 100 | 0.023 TRUNKING NUT

UD608 SHORT SPRING NUT M8 [100 ] 0.027

UD810 SHORT SPRING NUT M10 | 100 0.035

UD812 SHORT SPRING NUT M12 |100] 0.041

UA506 LONG SPRING NUT M6 | 100 0.030

UAG08 LONG SPRING NUT M8 [100] 0.028

UAS10 LONG SPRING NUT M10 | 100 0.036 =5 Weidh

UA812 LONG SPRING NUT M12 | 100 [ 0.042 Part # Description M i'g J
CORROSION PROTECTION - (]}

MFA-SM CLIP [3329 |  Kkmines | [100]0.055 |

Part # Descrption T = nga'“
CORROSION PROTECTION - ()
[ 160310 | MFAM6 [ M6 [100] 0.007 |

Dl beed Lry




CRADDY’ @ i Z :§NSIVIAN PTY.LTD.

EC CLIPS

Part #/Desaiption ':m

corrosion ProTECTION - () Part # Description

SK851 18-22 100 | 0.050

051 o o0 o000 corrosion proTECTION - ([ (ED

SK1651 3035 100 | o.060 EC2024 EC CLIP-HDG 8 100 | 0.05

S0 0] e weawwe | i {go0]00s

SK2451 45-49 50 |0.850
EC2025-GAL EC CLIP-PRE GAL 11 0.05
EC2026 EC CLIP-HDG 14 |[100] 0.06
EC2026-GAL EC CLIP-PRE GAL 14 0.06
EC2027 EC CLIP-HDG 17 |100] 0.06
EC2027-GAL EC CLIP-PRE GAL 17 0.06
EC2028 EC CLIP-HDG 19 |[100] 0.06
EC2028-GAL EC CLIP-PRE GAL 19 0.06
EC2029 EC CLIP-HDG 22 |[100] 0.06
EC2029-GAL EC CLIP-PRE GAL 22 0.06
EC2030 EC CLIP-HDG 25 |[100] 0.06
EC2030-GAL EC CLIP-PRE GAL 25 0.06
EC2031 EC CLIP-HDG 29 |[100] 0.06
EC2031-GAL EC CLIP-PRE GAL 29 0.06
EC2032 EC CLIP-HDG 32 [100] 0.06
EC2032-GAL EC CLIP-PRE GAL 32 0.06
EC2033 EC CLIP-HDG 35 [100] 0.07
EC2033-GAL EC CLIP-PRE GAL 35 0.07
EC2034 EC CLIP-HDG 38 |100] 0.07
EC2034-GAL EC CLIP-PRE GAL 38 0.07
EC2035 EC CLIP-HDG 43 [100] 0.07
EC2035-GAL EC CLIP-PRE GAL 43 0.07
EC2036 EC CLIP-HDG 44 [100] 0.07
EC2036-GAL EC CLIP-PRE GAL 44 0.07
EC2037 EC CLIP-HDG 49 50 | 0.08
EC2037-GAL EC CLIP-PRE GAL 49 0.08
EC2046 EC CLIP-HDG 76 50 [ 0.17
EC2046-GAL EC CLIP-PRE GAL 76 0.17
EC2050 EC CLIP-HDG 90 50 | 0.23
EC2050-GAL EC CLIP-PRE GAL 90 0.23
EC2058 EC CLIP-HDG 114 | 50 | 0.28
EC2058-GAL EC CLIP-PRE GAL 114 0.28
EC2070/62 EC CLIP-HDG 165 | 50 | 0.62
EC2070/62-GAL | EC CLIP-PRE GAL 165 0.62

ERICO



CRADDY’ @ % Z :aNSN PTY LTD.

4. CADDY® ERISTRUT

ZEV i ZEA102

CADDY ERISTRUT FITTINGS

Part # Description

CORROSION PROTECTION -

ZEA110

387500 ZEA100 10 [ 0.040 <&
387520 ZEA102 10 [ 0.120 ZGA501
387540 ZEA104 10 | 0.280
387560 ZEA106 10 [ 0.250
387570 ZEA107 10 [ 0.210
387580 ZEA108 10 [ 0.290
387590 ZEA109 10 | 0.360
387450 ZEA110 10 [ 0.420
388270 ZGA501 10 | 0.560
387740 ZSA301 10 [ 0.200
388110 ZSA304 10 [ 0.280
387700 ZTA601 10 | 0.260 ZUA401
388080 ZTA605 10 [0.110
313270 ZT606 10 | 0.174
387750 ZUA400 10 [ 0.310
387760 ZUA401 10 [ 0.210
ZWA200 ZWA200 100 | 0.120
387620 ZWA202 10 [ 0.120
387630 ZWA203 10 [ 0.200
387650 ZWA205 10 [ 0.270
387670 ZWA207 10 [ 0.570
387690 ZWA209 10 [ 0.380
387890 ZWA214 10 | 0.290
387900 ZWA215 10 [ 0.290
388400 ZZA701 10 [ 0.250
387720 ZZA702 10 | 0.550
313870 Z2704 10 | 0.500
P11 0000HD 10 | 1.750
P13 OOOOHD 10 | 1.700

FI1000HD P130000HD

Dl beed Ly




